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- ~ The normal capacity of ABC Company's Cutting Department is 4,500 machine hours 

per month. At normal capacity, the standard factory overhead rate is $ 24.80 per 

machine hour, based on budgeted fixed factory overhead of $ 85,500 per month and 

a variable overhead rate of $ 5.80 per machine hour. During July, the department 

operated at 4,600 machine hours, with actual factory overhead of $ 121,000. The 

number of standard machine hours allowed for the production actually attained is 

4,200. 

fiequired: 

Compute the spending variance, variable efficiency variance, and the volume variance, 

indicating whether the variances are favorable or unfavorable. 

*~~~:~~~~~lli~*~~~'~~~lli#~~~~~~'#30~o 

.::.... ' YMS Company is planning to produce and sell 100,000. units of Chip A at $ 8 a unit 

and 200,000 units of Chip B at $ 6 a unit. Variable costs are 30% of sales for Chip A 

- -and75% of salesfof"Chip13-:------­

Required: 

If total planned operating profit is $ 250,000, what must the total fixed cost be ? 
~~~.,~~p~*ilia-~~.,T~~ili·t·~a*~~'~10~o
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-=- ' XYZ Company is considering, the purchase of a $ 40,000 machine, which will be 

depreciated on the straight-line basis over an 8-year period with no salvage value. The 

machine is expected to generate an annual pretax cash inflow of $ 15,000. The 

income tax rate is 25%. 

Required: 

Determine the payback period. 
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. ~. Burlington Textiles has some spoiled goods that had an assigned cost of $40,000 
and zero net disposal value. 

Required: 
Prepare ajournal entry for each ofthe following conditions under (1) process costing 
(department A) and (2) job costing: 
(a) Abnormal spoilage of $40,000 (5~) 

(b) Normal spoilage of$40,000 regarded as common to all operations (5~) 

3i.	 ABC Corporation just completed its first year of operations. Planned and actual 
production equaled 10,000 units, and sales totaled 9,600 units at $100 per unit. 
Cost data for the year are as follows: 

Direct material (per unit) $12 
Conversion cost: 

Direct labor 45,000 
Variable manufacturing overhead 65,000 

Fixed manufacturing overhead 220,000 

Selling and administrative costs: 
Variable (per unit) 8 

Fixed 118,000 

Required: 
(1) Prepare the company's direct-costing income statement. (10 ~) 

(2) Prepare the company's throughput-CO&ting income statement. (10 ~) 

-f\.	 Culture Company uses a standard-costing system. The firm estimates that it will 
operate its manufacturing facilities at 800,000 machine hours for the year. The 
estimates for total budgeted overhead is $2,000,000. The standard 
variable-overhead rate is estimated to be $2 per machine or $6 per unit. The actual 
data for the year are presented below. 

Actual fInished units 250,000 
Actual machine hours 764,000 
Actual variable $1,701,000 
overhead 
Actual fIxed $392,000 

"overhead 

Required: 
Compute the following variances and indicate whether each is favorable or 
unfavorable, where appropriate. 
(a) variable-overhead spending variance. (5 ~) 

(b) Variable-overhead efficiency variance. (5 ~) *" ~\ "! ~ 
(c) Fixed-overhead budget variance. (5 1}) Jl il ~r liN 
(d) Fixed-overhead volume variance. (5 1}) 
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